

Find the eigen values and eigen vectors

$$A = \begin{pmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{pmatrix}$$

Ans:

Given $A = \begin{pmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{pmatrix}$

\therefore The char eqn = $|A - \lambda I| = 0 \rightarrow \textcircled{1}$

$$|A - \lambda I| = \begin{vmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{vmatrix} - \lambda \begin{vmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{vmatrix}$$

$$= \begin{vmatrix} 2 & 2 & 1 \\ 1 & 3 & 1 \\ 1 & 2 & 2 \end{vmatrix} - \begin{vmatrix} \lambda & 0 & 0 \\ 0 & \lambda & 0 \\ 0 & 0 & \lambda \end{vmatrix}$$

$$|A - \lambda I| = \begin{vmatrix} 2-\lambda & 2 & 1 \\ 1 & 3-\lambda & 1 \\ 1 & 2 & 2-\lambda \end{vmatrix}$$

$$= (2-\lambda) [(3-\lambda)(2-\lambda) - 2]$$

$$- 2 [1(2-\lambda) - 1] + 1(2 - (3-\lambda))$$

$$= (2-\lambda) [6 - 3\lambda - 2\lambda + \lambda^2 - 2]$$

$$- 2 [2 - \lambda - 1] + [2 - 3 + \lambda]$$

$$= (2-\lambda) (\lambda^2 - 5\lambda + 4) - 2(1-\lambda) + (-1+\lambda)$$

$$= 2\lambda^2 - 10\lambda + 8 - \lambda^3 + 5\lambda^2 - 4\lambda - 2 + 2\lambda - 1 + \lambda$$

$$= -\lambda^3 + 7\lambda^2 - 11\lambda + 8 - 1$$

$$\Rightarrow -\lambda^3 + 7\lambda^2 - 11\lambda + 8 = 0$$

$$\begin{array}{l} 1 \left| \begin{array}{ccc|c} -1 & +7 & -11 & 8 \\ 0 & -1 & 6 & -8 \end{array} \right. \\ 1 \left| \begin{array}{ccc|c} -1 & 6 & -5 & 0 \\ 0 & -1 & 5 & 0 \end{array} \right. \\ 5 \left| \begin{array}{ccc|c} -1 & 5 & 0 & 0 \\ 0 & -5 & 0 & 0 \end{array} \right. \end{array}$$

$$\lambda = 1, 1, 5$$

∴ The eigen values are $\lambda = 1, 1, 5$

$$(A - \lambda I) = \begin{pmatrix} 2-\lambda & 2 & 1 \\ 1 & 3-\lambda & 1 \\ 1 & 2 & 2 \end{pmatrix} \rightarrow \textcircled{1}$$

Now take $\lambda = 1$ in substituting equation number $\textcircled{1}$

$$= \begin{pmatrix} 2-1 & 2 & 1 \\ 1 & 3-1 & 1 \\ 1 & 2 & 2-1 \end{pmatrix}$$

$$= \begin{pmatrix} 1 & 2 & 1 \\ 1 & 2 & 1 \\ 1 & 2 & 1 \end{pmatrix} = 0$$

$$= x_1 + 2x_2 + x_3 = 0 \rightarrow \textcircled{2}$$

$$= x_1 + 2x_2 + x_3 = 0 \rightarrow \textcircled{3}$$

$$= x_1 + 2x_2 + x_3 = 0 \rightarrow \textcircled{4}$$

Now take $\textcircled{2}$ & $\textcircled{3}$ by using cross multiplying method

Since x constant x & y

$$\begin{pmatrix} 2 & 1 & 1 & 2 \\ 2 & 1 & 1 & 2 \end{pmatrix}$$

$$\frac{x_1}{2-2} = \frac{x_2}{0} = \frac{x_3}{0}$$

The eigen vectors = $(0, 0, 0)$

Now take $\lambda = 5$

$$= \begin{pmatrix} 2-5 & 2 & 1 \\ 1 & 3-5 & 1 \\ 1 & 2 & 2-5 \end{pmatrix}$$

$$= \begin{pmatrix} -3 & 2 & 1 \\ 1 & -2 & 1 \\ 1 & 2 & -3 \end{pmatrix} = 0$$

$$= -3x_1 + 2x_2 + 1x_3 = 0 \rightarrow \textcircled{1}$$

$$= x_1 + -2x_2 + 1x_3 = 0 \rightarrow \textcircled{2}$$

$$= x_1 + 2x_2 - 3x_3 = 0 \rightarrow \textcircled{3}$$

Now take $\textcircled{2}$ & $\textcircled{3}$ by using Cross multiplying method

Since y constant x & y

$$\begin{pmatrix} 2 & 1 & -3 & 2 \\ -2 & 1 & 1 & 2 \end{pmatrix}$$

$$\frac{x_1}{2+2} = \frac{x_2}{1+3} = \frac{x_3}{+6-2}$$

$$\frac{x_1}{4} = \frac{x_2}{4} = \frac{x_3}{4}$$

The eigen vectors = $(4, 4, 4) \Rightarrow (1, 1, 1)$

$$= 6 - \lambda [$$

$$+ 2 [$$

$$+ 2 [$$

$$= 6$$

$$= -1$$

Find the eigen value and eigen vectors

$$A = \begin{bmatrix} 6 & -2 & 2 \\ -2 & 3 & 1 \\ 2 & -1 & 2 \end{bmatrix}$$

proof:

Char eqn A is $|A - \lambda I| = 0$

$$A - \lambda I = \begin{vmatrix} 6 & -2 & 2 \\ -2 & 3 & 1 \\ 2 & -1 & 2 \end{vmatrix} - \lambda \begin{vmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{vmatrix}$$

$$A - \lambda I = \begin{vmatrix} 6 - \lambda & -2 & 2 \\ -2 & 3 - \lambda & 1 \\ 2 & -1 & 2 - \lambda \end{vmatrix}$$

$$\begin{aligned}
&= 6 - \lambda [(3-\lambda)(2-\lambda) - 1] \\
&+ 2 [-2(2-\lambda) + 2] \\
&+ 2 [2(2(3-\lambda)(6-\lambda)(9-3\lambda-3\lambda+\lambda^2) + 2[-6-2\lambda]) \\
&\quad 2 [2(6-2\lambda)]] \\
&= (6-\lambda) [\lambda^2 - 6\lambda + 9 - 1] + 2(2\lambda - 4) + 2[2\lambda - 4] = 0 \\
&= (6-\lambda)(\lambda^2 - 6\lambda + 8) + 4\lambda + 4\lambda - 8 = 0 \\
&= (6-\lambda) [\lambda^2 - 6\lambda + 8] + 4\lambda - 8 + 4\lambda - 8 = 0 \\
&= 6\lambda^2 - 36\lambda + 48 - \lambda^3 + 6\lambda^2 - 8\lambda + 4\lambda - 8 + 4\lambda - 8 = 0 \\
&= -\lambda^3 + 12\lambda^2 - 36\lambda + 32 = 0 \\
&\quad (\lambda - 2)(-\lambda^2 + 10\lambda - 16) = 0
\end{aligned}$$

$$\begin{array}{r|rrrr}
2 & -1 & 12 & -36 & 32 \\
& 0 & -2 & 20 & 32 \\
\hline
2 & -1 & 10 & -16 & 0 \\
& 0 & -2 & -16 & \\
\hline
8 & -1 & 8 & 0 & \\
& 0 & -8 & & \\
\hline
\boxed{-1} & \boxed{0} & & \boxed{\lambda = 2, 2, 8}
\end{array}$$

\therefore The Δ if $\lambda = 2$ $\begin{pmatrix} 6-2 & -2 & 2 \\ -2 & 3-2 & -1 \\ 2 & -1 & 3-2 \end{pmatrix}$

$$\begin{bmatrix} 4 & -2 & 2 \\ -2 & 1 & -1 \\ 2 & -1 & 1 \end{bmatrix} = 0$$

$$= 4x_1 - 2x_2 + 2x_3 = 0 \rightarrow \textcircled{2}$$

$$= -2x_1 + x_2 - x_3 = 0 \rightarrow \textcircled{3}$$

$$= 2x_1 - x_2 + x_3 = 0 \rightarrow \textcircled{4}$$

Now take $\textcircled{2}$ and $\textcircled{3}$ by using cross multiplying method.

(since y constant αy)

$$\begin{pmatrix} -2 & 2 & 4 & 2 \\ 1 & -1 & -2 & 1 \end{pmatrix}$$

$$\frac{x_1}{2-2} = \frac{x_2}{-4+4} = \frac{x_3}{4-4}$$

$$= \frac{x_1}{0} = \frac{x_2}{0} = \frac{x_3}{0}$$

The eigen vector = $(0, 0, 0)$

$$\text{If } \lambda = 8 \quad \left| \begin{array}{ccc} 6-8 & -2 & 2 \\ -2 & 3-8 & -1 \\ 2 & -1 & 3-8 \end{array} \right|$$

$$= \begin{bmatrix} -2 & -2 & 2 \\ -2 & -5 & -1 \\ 2 & -1 & -5 \end{bmatrix}$$

$$= -2x_1 - 2x_2 + 2x_3 \rightarrow (2)$$

$$= -2x_1 - 5x_2 - x_3 \rightarrow (3)$$

$$= 2x_1 - x_2 - 5x_3 \rightarrow (4)$$

Now take (2) and (3) using cross multiplying method

(y constant x y)

$$= \begin{pmatrix} -2 & 2 & -2 & -2 \\ -5 & -1 & -2 & -5 \end{pmatrix}$$

$$= \frac{x_1}{+2+10} = \frac{x_2}{-4-2} = \frac{x_3}{+10-4}$$

$$= \frac{x_1}{12} = \frac{x_2}{-6} = \frac{x_3}{+6}$$

The eigen vectors is $(2, -1, +1)$.